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GeleRl adld:- o4 U <oz 6 |2 2R [Asey 2 Sl dl, 1= UL dedl iy s2dl.

undor6- O@BR®
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SECTION - 1

96¢R1cl

u: 18l 3 : dldedl sAd aidl vid ddl dld ygar nsidar o waiumil aidl.
sl slY oaRle la? siol sle Ris?
sio el o He 2 cdlon | wunn ogel wiis.
disls <l Rasst wa, didls el e,
wiHL dl g ool ag? i d ool wie?
Gualoll ols gl 9 vl HdHa,
Vioye, WL 2o 2 A sldedl dldl s14,
glowl WRol I HOL od, BRI oAl w1,
Yul gulldl ardl §'dl onadl ¢ld] oua.
viedl WdR sl ugul, g «dld e,
23 «dld, 2 olf, sl Al 9 A ?
dididl dl wisél adl, ¢éq 2ad éd;
fllzul W2 glsdl Ml @adi o4 d, Ud!
Hiddl Qoll UG-y U] 51 celd;
dlz 4 Rsst A «elii, glad HvRa !

01. sla ‘Guzawil ols’ sid oroud 97
(1) 2UMd (2) il
(3) [Rusid (4) SR

02. s[4 21 siuHl U BaAd HI2 585 ollold Herasdl oud 97
(1)  Hq®-He® 92341l UH (2) 4«-uld
(3)  orHld-0nuglE 4)  iq-aiel

SPACE FOR ROUGH WORK
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03. 2l slumi sfAv ‘glod wiRa’ oe sul wiEHE Wdisvdl 87
(1) ad duldl qaar w1
(2)  AEl AlAs wad »iEd
() Yul A9l RYR wad
@) ya, 42l vid siga 1Y

NN\

w: 4 94l 6 : dlAdl Hae aldl v ddl <A 200a0 UBdl oA, YKl aidl.

Ble 518 dal w2 R wug?’

“Al, wadidl 55 o3 «dl, A siMoud el

Al ugl Hed ol sdl dd usa?’

! ad ‘dot W’ R AuRrL sl si6d oA doa.’
W uHor 4 udl

‘A oilsal dH “vlidasdq’ 2l asl’

‘You 4 dl slidaisa’ o5 ‘Al vu’ a4l

oAld sl dd? HeH! ad ed derdz W oof o siM s usl ol

o | AHR dHiRl odd v’ sl réald.’

04. Gudl HAleHl $edl svousl MPL dlul 97
(1) 2w (2) AR

-

3) o 4) v

05. Guz-dl Haeul wdl wowll <1 97
(1) 3oz 518 (2) I 518
3) [z 518 4)  sle 518

SPACE FOR ROUGH WORK
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06. il dlEMl 54 s2dl wReufNs goel »ud 97
(1) 6 2) 8
3) 9 4) 17
07. <l waiamigl wel” w1 w0t we Al 4 G d o AsE BlAL
(1) o 2) <Rk
3) ulaa 4) »ilaq

08. 2udl goedl [ARiEl g0e quil.

Al
(1) 28l ) [Aauq
(3) 2™l (4)  2ionel

09. <l™ wuden wakkHigl din oAl 597
(1) YzeidH (2)  W3MidH
(3)  YMidH (4)  YRMIGUH

10, OUHHL »Uddl dd AQSI s ed,
VURMIA 208 W2 dod Y il
(1) [siasul ()  @lawdal

(3)  seailanl @)  [laaal

11, ‘UARAl UERML ded 5201 Ui’ YorUHE HIZ Vs A0 BUUAL Yudidl vl
(1) ueilay, (2)  WA:ds-ln
(3) ®ord (4)  Wa: 4

SPACE FOR ROUGH WORK
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12.

13.

14.

15.

16.

17.

~

‘sl ousl A’ Bl sedddl did v «dlAAl wuiinigl ikl

(1) Ul Adlddl 980 oAl

(2)  aR$l HIRRAL dush yaladl A s s s asdl <l
(3) ¢l Wl QR i 9.

(4)  dR$L YKL qMadl GSR gid 9,

(¢ Y

Al uuilimidl wqeilas 2o €lu d o waiie il
(1 d 2) W
() 4) M

B + <ld 2 [Que weEl oddl 20 yuiamidl il
(1) Gledla (2)  Geadl
(3) Gesla 4)  Gesdl
‘o ¢ seugatedl ddl, dd 9l dxd dd wa?
VURUA AddiHAl USR 2ol

(1)  AUa AdeuH (2) eds udqm
(3)  UHAUS AUdAIH (4)  YMARRs UddM

N

wudl vuiimial yledar slavil,
(1) 4a (2) Al
(3) sisdl (4)  uwR

Al wiual waiHEl A4 vqUR - 2RI 0ddl vliavll,
(1)  «gl-«lwil (2)  Asl-Aslll
(3)  eR-u 4)  9a-9al

SPACE FOR ROUGH WORK
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18.  «dldl asumidl NURMIA gEddl usiR i,
U Blsd, vl oy’
(1) ®d sed (2) AdMld $Ed
(3) #oits gEd 4) dcad ged

19.  Adladl st 2adl Al wdieL eld 97
‘Al o ugld AL’
(1) sdRk wul (2) 1 uuRL
(3)  sHloL wuia (4)  URs Rl
20. Al 2addl wakisiEl WeaH ue il dHiud GElRQL A4 Sl d udia il
(1) R (2)  wRIMvRal
(3) [ (4)  sHAs

21, <dlRdl i 54 sedl [RIMRICHIAL Gualdl RAMl el 97
S wnll, w1l well saidl aadi ¢4?’
(1) o (2) v
(3) =l (4) AR

N

22, A wpudl AsuHl Sl vudl Baued odstad 3wzl asa ysl sl

‘DR opllami olld @ ----- > (vud)
(1) viaedl lut (2)  vsu Ylul
(3) sy 4) el

SPACE FOR ROUGH WORK
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23, AlRdmidl s GeleRQl Vicddquin® wdsid 97 Uiy waii il
(1) ¢4 <l g9, 94, Gg «le @i,
6d A 93, IR, YAl (ARl
(2) &gl GWR w2q gigledl, arsAL HlEN wHidal
(3) UGl €14, sIH HERIY st
(4) WMl w2l dsy aid udllui

24, <dlRqamigl sal sieadl udl slQ uHide 9l 97
(1) oged &= viel sl (2)  PIEUA
(3) il [l 4) e wd Yl

~

25, “lasrd dl dd 2 sl oo dls wig el V.. clovedl afdL sl 97

dlR wuar waiinil dion yala wil.
(1) Hkious (2)  RRe Héal
(3) AIRIH €4 4) ikl

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

SECTION - II
MATHEMATICS
1 1 _
a—b + b—a ?
1 (a—b)+(a—b)
M a+p @) a=bb-a
3) 1 4 0

The LCM of two co-prime numbers is 910 and their sum is 83. What will be
the difference between the two numbers?
(1) 57 (2) 60 (3) 8l 4) 75

Two right angled scalene triangles are joined along their hypotenuse. Which of
the following figures will be formed? (Select two correct options)

(1) Rhombus (2) Kite

(3) Rectangle (4) Trapezium

60 /. milk contains 15% fats and 40 /. milk contains 8% fats. If these two milk
are mixed together, then what will be the % of fats contained in the mixture?
(1) 87.8 % 2) 122 % (3) 1220 % 4) 122 %

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

SECTION - II
alda
al s+ bl = eal?
1 (a—b)+(a—b)
M 255 @ @-bb-a
3) 1 4) 0

Y N

o UeHO Huuldl d. Al 2. 910 &9 AHedl AL 83 9. dl d o vl 923l
dglad 524l ?
(1) 57 (2) 60 (3) 81 4) 75

ol vis3u [Auueyer 512519l Bistor suldl olsysiel oadlal dl dlaqamial 59 ugla
duir 49? (ol »ys uuld wll)

(1) A4S A5l (2) udl

(3)  do™RA (4) uudol aAdrsiel

60 [d22 gMl HAld UHIQL 15% 9 2id 40 (a2 gl HAld uHIL 8% €9
VL ool g4 GPRIL SUD dl d MAQME HASd wHL g ea?
(1) 878 % 2) 122 % (3) 1220 % 4) 122 %

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

34.

3S.

% ) i
Find the value of : 27 >1</36 Xil
2572 % 40072
() o (2) 54 (3) 0.54 (4) 0.064

In a circle, the measure of a major arc is 60° more than double the measure of

its minor arc. What will be the measure of its major arc?
(1) 100° (2) 300° (3) 220° (4) 260°

Write the degree of the product of (x*—27) (x*+2x+2)
(1) o6 2 5 (3) 3 4) 2

Which of the following options indicate the volume of a sphere?

() Tx2xr3 @ fxams? 3) §xr? @) A 2

Rohit purchased a 3 year old used machine from Mohit for Rs. 8,57,375. If
the rate of depreciation is 5%, for how much did Mohit must have bought the

machine ?
(1) Rs. 10,00,000 (2) Rs. 12,00,000
(3) Rs. 8,00,000 (4) Rs. 9,00,000

Which of the following are the factors of a trinomial ?

(@ — b)? — 17 (a — b) — 60 ?

(1) (@a-b-12) (a — b +5) 2) (@a—b +12) (a — b - 9)
3) (a@-b+20) (a—->b-23) 4) (@—-b-20)(a—->b+ 3

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

34.

3S.

[Gua il
1 1 1
274 X 365 X SIA

25% ><400%
(1) 64 (2) 5.4 (3) 0.54 (4) 0.064

wis adaHl ol adoy 9. Vs AdaHl 23U HIU H0ld AgANUAL HIUAL UYL
Kl 60° o/2q AUR 9 dl 3™, WU 5247
(1) 100° (2) 300° (3) 220° (4) 260°

(*=27) (X3 +2x+2) >l GGUEldl AQUSRAL dld Quil,
() o 2 5 3 3 4) 2

AlRdmigl sl ousR ol ddsa guld 97

() 1x272P @ fxam? @) Fx P @ Ex 2

Aléa Hilea wxel 3 ad awrg oy 4o 8,57,375 3Muami daud 4l € ad
5% <l €2 dedl Buaui @216l adl ¢l dl Hiléd d da e 3fmi dly ea?
(1) 10,00,000 3Mua (2) 12,00,000 3[ua

(3) 8,00,000 3(uL (4) 9,00,000 3(uL

(@ — b2 =17 (a — b) — 60 21l Bulel vaua lAqmigl sa1?
() (@—b—12)(a—b +5) 2) (@-b+12) (@ - b - 5)
(3) (a—b+20) (a—b-3) 4) (a@—-b—20) (a—-b+3)

SPACE FOR ROUGH WORK

0411 / Gujarati Set-A 11 of 32 P.T.O.




36.

37.

38.

39.

40.

(3x+7) is an even number. What will be the square of ‘x’ from the following

options?
(1) Odd number (2) Even number
(3) Prime number (4) Twin prime number

Abdul covered %th distance between the towns A and B by car and % the
distance by bus. Still town B is 15 km away. What may be the distance between
the town A and B ?

(1) 105 km (2) 450 km (3) 75km (4) 150 km

The capacity of a bucket is 10/. If it is to be filled to its full capacity, how
many bottle of 1.25/ will have to be emptied in it?
(1) 8 bottles (2) 80 bottles (3) 10 bottles (4) 100 bottles

If a supplementary angle of an angle’s complementary angle is 108°, find the
measure of the angle.

(1) 72° 2) 18° (3) 98° 4) 198°

In the adjoining figure, the diagonal of a square is 12cm. Find the length of

every side.
S
19 1
(1) % cm () 6 cm (B) 122 em  (4) 642 cm

SPACE FOR ROUGH WORK
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36.

37.

38.

39.

40.

~

Gx+7) 21 AqWAvAL 8§ dl x° 20 dvadl 0 dlA4migl 59 dqua ¢a?
(1) [awy v (2) UH Hvul
(3) Ha Hval (4) UHYO Avul

vogd A oMl B ouH yHl ovdl HIZ 54 wldzedl % QPRI Az SR A8 s
wid % QL AR ot 48 s dl wel ¢ B oM 15 [sdidlr 2 9. dl A
vid B olHdl 923 2l s2g eu?

(1) 105 [sl (2) 450 (54l

3) 75 (54l 4) 150 [s8l

wis oldeldl dRsdl 10 (@22 9 21 onadl wlldl yol erame w1l (@22 wylll
sedl onedlull duidl ugal?

(1) 8 ouedlwil (2) 80 ocucdl=il

(3) 10 ouedl=i (4) 100 onedl»il

w5 WUl sIRsIgAL YRssiQld, MW 108° 9. dl d veld MU gl

(1) 72° (2) 18° (3) 98° (4) 198°

Y N Y

ollogell ARAAL (459l 12 »Hl 6 dl dedl ucds olsy«ll dotsS il

&:3,2 T

4 \% €

1) % a2 6 adl G) 12v2 adl @) 642 @l

SPACE FOR ROUGH WORK
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41.

42.

43.

(0.3)2 + (0.1)2 — (0.2)2 = ? (Select two correct options)
(1) 0.6 (2) (0-36)/2 (3) +0.0036 (4) 0.06

Four vertices of a square lie on the circle as shown in the figure. The center of

the circle is ‘O’ and radius is 7cm. Find the area of the shaded portion.

(1) 54 sq.cm  (2) 55 sq. cm (3) 56 sq. cm (4) 57 sq. cm

In the adjoining figure, /, m, n are parallel lines. mZ DAO = 60°
mZ OCE = 35°, then m£ AOC = ?

D A .
6?
< . » M
B o\ G
< 35° > 71
E C
(1) 25° (2) 95° (3) 85° (4) 105°

SPACE FOR ROUGH WORK
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41.

42.

43.

(0.3)2 + (0.1)2 — (0.2)2 = %2cdl? (ol 2135 uuld widl)

(1) 0.6 (2) <0.36>1/2 (3) +0.0036 (4) 0.06

wslAl oldiodl UHIGL 25 ARUAL AR [BRIGg adauwr 9. adadl Bean 7 4l
vd e ‘07 9. dl 9ilsd @R Asga Al

.0

(1) 54 ™Al @) S5 AadHl 3) 56 AwAHl @) 57 ALl

-~

lglAHL WL 1, m 2 7 "HIAR WL 8. m”s DAO = 60°
ms OCE = 35° dl m/ AOC = %2di?

D A . !
67
< . » M
B o\ G
< 350 > N
E C
(1) 25° (2) 95° (3) 85° 4) 105°

SPACE FOR ROUGH WORK
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44.

45.

46.

47.

Which of the options given below are incorrect statements? (Select two correct
alternatives)

a) A ray has a midpoint.

b) A line has a midpoint.

c) Chord of a circle has a midpoint.

d)  Perpendicular bisector of a line segment passes through its midpoint.

(1) a 2 b 3) c 4 d

Which of the following terms, when added to the binomial 1 + 64ab?, will
make it a perfect square? [Select two correct alternatives]
(1) 16 ab (2) 8 ab 3) -8 ab 4) — 16 ab

By which of tests, A ABC and A DCB from the given figure will be congruent?
A D

B C
(1) SSS test (2) SAA test (3) ASA test (4) SAS test

Find the ratio of x and y, if a number is 20% of ‘x’ and another is 25% of ‘y’.
(1) 5:4 2) 4:5 3) 2:3 4) 3:2

SPACE FOR ROUGH WORK
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44.

45.

46.

47.

AlAdmizgl vii2r uai sl

(ol 2135 uuld i)

a) [5291d 25 Heulolg clu 9.

b) ulid w5 Heulolg Sl ©.

c) adaMidl @ad wis Hulog S 9.

d) ulvisdl dotg®isrs ddl HelogHial yur w6,

(1) a 2) b 3) ¢ 4) d

1 + 64a2b% 21l 6llovs D Yol adl gal iz <dlRkidamidl s Hed ue dd usal?

(el 2195 uuld lal)
(1) 16 ab 2) 8 ab (3) — 8 ab 4) — 16 ab

wi5(dHl A ABC st A DCB 58 s@iZl sl 2is3u g 97
A D

B C

(1) ol-oll-6ll  (2) Oll-Yj-vf (3) vi-oll-vy (4) ol-vi-oll

=\ Y

QTR L.
(1) 5:4 (2) 4:5 (3) 2:3 4) 3:2

Y Y

Bl AuAl (x) dl 20% B ol dqudl () Al 25% UMW 9 dl x dl y Yl

SPACE FOR ROUGH WORK
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48. The weight of 20 students from a class is given in the frequency table. Find the
mean of their weights. (Select two correct alternatives)
Weights of the students (in kg) Frequency (f)
20 11
21 8
22 1
(1) 20 kg 50 gm (2) 20.5 kg
(3) 20.05 kg (4) 20 kg 500 gm
49. O ABCD is a cyclic quadrilateral. Point E lies on the ray BC as B — C — E.
If mzZ DCE = 95°, then m£ DAB =?
A
B
D
C
E
(1) 85° (2) 95° (3) 190° 4) 170°
SPACE FOR ROUGH WORK
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48.

49.

oY gy

vis @il 20 [Q2udlaid asva (yol (sdiamsl) <l gl 9. d uedl
[Qzneloiidl doveedl Heuuid 2l (o 215 vali i)

[Gendlotid asr< (x) 29[ (f)
(yel [setioumai)

20 11
21 8
22 1
(1) 20 [sdium 50 (2) 20.5 [sdiam
(3) 20.05 [sqim (4) 20 [sdu4 500 2w
wisladi O ABCD sl aqesiol 9. 5291 BC w [oig E »idl Ud 9 5 B-C-E.
ms DCE = 95° dl m/ DAB = %dl?
A
B
D
C
E
(1) 85° (2) 95° (3) 190° 4) 170°

SPACE FOR ROUGH WORK
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50.

(1
3)

51. Find
(a)
(b)
(c)
(d)
(1)

From a rectangular thermocol sheet with dimension 20cm x 10cm, a
rectangular piece of 2cm x 5cm dimension is cut. Which of the following

sentences will be correct for the thermocol sheet?

20cm
=
Q -
= l
Perimeter will increase (2) Perimeter will decrease
Perimeter will remain same (4) Perimeter will get doubled

the incorrect statement from the following:

Every prime number is a natural number.

Every rational number is a real number.

Sum of any two prime numbers is an even number

HCF of twin prime numbers is 1.

a 2) b 3) ¢ @) d

52. In the figure, line / and m intersect in point O. Find the value of ‘y’.

(1)

164° (2) 56° (3) 34° 4) 146°

SPACE FOR ROUGH WORK
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50. s doliRAUsR 20 A4l x 10 Al Hudl guisia dlenidl 2 AL x 5 A4l Huedl

-~

doliRalsk 2561 st dl afdl adlsia edle w2 dRdamiEl s s »iys 97

2044]
=
.’g Ir___
(1) ukMdl aag 2) uRkBdl >l =19,
(3) uR[dl dzdl or 281 4) uRkldl omell =9,

51 <lRamidl v [Qad ol
(a) Ucds HOU Hval wl wiglas dval ¢l 9.
(b) Ucds UHUAVUL w1 ARdAAs dvul i 9.
(c) SITUQL 6f YO LUl WAL SHAL AUAVAL o Sl 9,
(d) oASHAL Hvaldl dLALM 1 ¢ld 9.

() a (2) b (3) ¢ 4) d

52, slgladi 2wl 7 24 m wrwR O [oigHl 892 8 dl y dl [Bud wldl.

(1) 164° 2) 56° (3) 34° 4) 146°

SPACE FOR ROUGH WORK

0411 / Gujarati Set-A 21 of 32 P.T.O.




S3.

54.

5S.

56.

57.

Read the following statements and select the correct alternative. (Two correct
options)

(A) The numbers divisible by 3 and 4 are divisible by 8.

(B) All numbers that are divisible by 2 and 9 are divisible by 18.

(C) The numbers divisible by 6 and 10 are divisible by 2.

(1) Statement ‘A’ incorrect (2) Statements ‘B’ and ‘C’ are correct
(3) Statements ‘A’ and ‘B’ are correct (4) Statement ‘C’ incorrect

Which of the following conditions should be given to make the total surface area
of a sphere and cylinder to be equal?

(1) Diameter of a sphere should be equal to the radius of a cylinder.

(2) Radius and height of a cylinder is equal to the radius of a sphere.

(3) Radius of a cylinder should be double the radius of sphere.

(4) Height of a cylinder should be equal to the diameter of the sphere.

A fruit seller purchased 48 dozen bananas at the rate of Rs. 48 per dozen.
1 dozen bananas were spoiled. He sold the remaining bananas at Rs. 72 per
dozen. How much profit or loss did he incurr in this transaction?

(1) Rs. 1080 loss (2) Rs. 1080 profit

(3) Rs. 72 loss (4) Rs. 48 profit

In a cuboid shape tank, water is being poured from the tap at the rate of
60 //min. The capacity of the tank is 108 cu.m. How much time will be required
to fill the tank to half of its capacity?

(1) 10 hrs. (2) 3 hrs. (3) 30 hrs. (4) 15 hrs.

What will be the compound interest on Rs. 30,000 at the rate of 12% p.a. in
l%years?

(1) Rs. 5400  (2) Rs. 6516 (3) Rs. 5696  (4) Rs. 5616

SPACE FOR ROUGH WORK
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53.

54.

5S.

56.

57.

N

A2l [Afdl il i di uali gl
(ol 2135 uuld lal)

(#) 3 2t 4 93 [Aelet ¢l ddl ol v 8 93 [Aie ld .
(o) 2 2t 9 a8 [AGUs €l ddl ol vl 18 a3 [Aeiet €lu .
(5) 6 24 10 43 [AQUet ¢l ddl ol wdva 2 93 [Aels €lu ©.
(1) [ =1 v ) [Bad o #d 5 U

(3) [ @ wd o Yy 4) [Bad 5 2

AGISRG, 54 Yssnl Biedl OllolUed Yrsstl U] Udl M2 <dlRAAmiEl 55 ard iudl
oheS ?

(1) oloudl @A i qnskedl Bl vl gldl oAl

(2)  AusRedl [Boan @ Glug, aoudl Bsan ovedl €idl ol

(3) skl (o, aoudl Bioail s2dl ool eidl ol

(4)  Aousiel Glus, otoudl enn oedl Sl o,

s s[A5A1 48 T Redl A 48 e S0 AUl dlUl ddidl 1 S| o
BRIGL 45 AL A8EL L 50 72 T <edl MId 9L dl de Bl UASRHL sl
ul 5 wie? sedl 3fuw?

(1) iz 1080 3Muu (2) <sl 1080 3[uw

(3) vz 72 3l 4) sl 48 3Mua

s doadisiz welldl eislui 2 [mlae 60 (@22 wHel s domidl uwel w9,
2isldl “Rsal 108 adMlez 9 dl d 2isl gl @RAl HIZ 3edl uMu QR ?
(1) 10 sas (2) 3 sdls (3) 30 sals (4) 15 sals

zAed 12% 2 30,000 3feud 15 ad asqfu eus bag ud?
(1) 5400 3Ma (2) 6516 3 (3) 5696 3w (4) 5616 3

SPACE FOR ROUGH WORK
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58.

59.

60.

61.

62.

63.

64.

Using the digit only once, from one digit prime number form the greatest and
smallest 4 digit number. Which of the following options will not divide the
difference between these numbers completely?

(1 3 2) 5 3) 9 4 7

Which of the following options is not a pythagorean triplet?

(1) G, 4,5) (2) (7, 24, 25) 3) B, 15 17) @) (5, 13, 14)
What is the product of two integers between which _1739 lie?

(1) 65 (2) 90 3) - 72 4 +72
(169)*—1 0

7(13)2_1 How much?

(1) 171 (2) 168 (3) 169 (4) 170

I had to give Rs. 7 change to Rickshaw uncle. I had enough coins of Rs. 1,
Rs. 2, Rs. 5. Then in how many ways can I pay him?
(1) 6 ways (2) 3 ways (3) 5 ways (4) 4 ways

The average age of Ria and her 4 friends is 24 years. Their ages are
(Bm - 2), Cm + 7), (4m — 7), B3m), 3m + 2) respectively. Find the value of ‘m’
M 7 @2 9 3) 8 @ 5

As the rate of ticket of a play increased by 25%, the sale reduced by 15%. What
is the rise or fall in the total income?
(1) 6.25 % rise (2) 6.25 % fall (3) 12.5 % rise (4) 12.5 % fall

SPACE FOR ROUGH WORK
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S8.

59.

60.

61.

62.

63.

64.

wis il YO dvadl 2is Bissy Quid AUdd AUR ddl HI2HE HIZL i il
Aledl "R wigl Aval 92l dsladd dlRdmigl 59 dvar a8 [an @l asiy «le.
1) 3 as 2) 5 3) 9 a4 4) 7 a3

AlRddimizl sl dval UYe UREPIRUAL Aus «dl?
I G435 @ (7,2425 3 B 1517) @) (& 13,14

_11 (et . N N d Y NN (B =~ o
79 AHY AvAL o7 ol YOUs 942 9 d YQUsdl 2RISR $edl?
(1) 65 (2) 90 3) - 72 4) + 72
1 2_1 =

((1639)%_1 = sedl?

(1) 171 (2) 168 (3) 169 4) 170

denaron sistd WL 7 300 921 wiudldl édl HRL wd 1 %, 2 % ud 5 %
Al Y2l Fasst edl dl 2 7 T sedl usR wuul as?
(1) 9 UsR (2) A UsR (3) uiA usk (4) AR UsKk

Rt ot dedl AR odquuilatidl GHedl 2] 24 ad @9 dudl GHR wdsd
GBm —2), Qm + 7), (4m = 7), Gm) 24 Gm + 2) a4 9. dl m <l (Ha 4l
(n 7 2 9 3 8 “4) 5

dasedl [lsedl Gua 25% adll dedl de 15% 19 24 dl s4 »lasHl 4Rl
wYdl Y218l sedl Yul?
(1) 6.25% a4RL (2) 6.25% @218l

(3) 12.5% aaRrl 4) 12.5% @218l

SPACE FOR ROUGH WORK
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65.

66.

67.

68.

Which of the following are the factors of (a3 — 85%) ?
(1) (a — 2b) (a®> — 2ab + 4b?)
(3) (a — 2b) (a*> + 2ab + 4b?)

The length, breadth and height of a cuboid is ‘I cm ‘b’ cm,

‘hﬂ

(2) (a — 2b) (a* — 2ab — 4b?)
(4) (a — 2b) (a® + 2ab — 4b?)

cm. If

[b = 60sq. cm, bh = 24 sq. cm, hl = 40 sq. cm, then find the volume of cuboid.

(1) 248 cu.cm (2) 240 cu.cm
(3) 600 cu.cm (4) 420 cu.cm

Solve the equation and find the value of x.
x—5 x+2
+
5 2
(1) 0 2) 0.7

=0

O @)

A semicircle is drawn over a diameter. The circumference of the semicircle is

72 units. /(BC) = I[(AO) = [(OC). Find the permimeter of A ABC.
B

A 0) C
(1) 42 + 1443 units (2) 5643 units
(3) 56 units (4) 423 + 14 units

SPACE FOR ROUGH WORK
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65.

66.

67.

68.

(@ — 8b3) <l waua <lAdidl su1?
(1) (a — 2b) (a* — 2ab + 4b?) (2) (a — 2b) (a® — 2ab — 4b?)
(3) (a — 2b) (a* + 2ab + 4b?) 4) (a — 2b) (a*> + 2ab — 4b?)

w5 dotadisk Al dousd, uglou wd Gl widsd [ cm, b cm @A A cm 8,
I

Ib =60 Al A4l, bh =24 Al AHl, Al = 40 Al Wil 9 dl dd adsa Al
(1) 248 ad «@dl (2) 240 ad ¥l

(3) 600 @ =il (4) 420 ad =4l

Al wudlser Ghdl wd x <l (HA Al

x—35 N x+2

° . 10 13
(1) 0 @ 07 () = @ 5

=0

A ABC l ollsy AC 2 a9 sitadn e 9. sitladadl uRMa 72 2is4 9.

-~

BC = AO = OC ¢4 di A ABC <l uRRa il

B
A O C
(1) 42 + 143 »is4 (2) 5643 wisH
(3) 56 wisH (4) 42V3 + 14 »is4

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

Which of the following options is the co-efficient form of the polynomial

(x> — 4x) ?
() (1, — 4) 2 @(,0,0,0 —4,0)
3) (1, 0,0,0, —4) 4 (1, 0,0,0,4)

Sureshrao sold an article for Rs. 1962 and earned a profit of 9%. What was the
cost price of that article?

(1) Rs. 1900 (2) Rs. 1850 (3) Rs. 1950 (4) Rs. 1800
ma% If m = 30 then n = 5. Write the equation of variation.
(1) m=6n (2) mn = 150 3) n=150m (4) mn =06

In A PQR, angle bisectors of £ Q and £ R intersect at point O.mZ O = 130°,

msZ P =7
P

(1) 50° 2) 100° (3) 80° 4) 130°

A farmer purchased a pump at Rs. 6600 after getting a discount of 12% on the
printed price. What might be the printed price of the pump?
(1) Rs. 7500 (2) Rs. 6500 (3) Rs. 5700 (4) Rs. 8500

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

(3 — 4x) @ olgueld Ueaszu «dlAdmial 54?
(1 4, - 4) 2) (1,0, 0,0, — 4, 0)
(3) (1,0,0, 0, —4) 4) (1, 0,0, 0, 4)

YRR Vs dxd 1962 3l dAdl dud dss 9 gl =l dl Al wikle ud
sedll ?
(1) 1900 3Mar (2) 1850 3fuur  (3) 1950 3w (4) 1800 3Muau

mal 64 m =30 dl n=5 w1 Aadd adlsa qvil
(1) m=6n (2) mn = 150 (3) n=150 m (4) mn =6

APQR Hi £Q 4 LR <l golors [61g O i 82 9 24 mZ QOR = 130°

€M dil msZP = edal? b

(1) 50° 2) 100° (3) 80° 4) 130°

wis vigad 215 ghndudl el Gua w dsy 12 92 Hewr usl du 6600 3Mxmi
Houl dl gMidudl eonuedl (Bua sedl?

(1) 7500 3Ma (2) 6500 3Mua

(3) 5700 3Ma (4) 8500 3Mua

SPACE FOR ROUGH WORK
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Instructions for the Q. 74. and Q. 75.

The sale and purchase of a merchant for the year 2017 for 3 months is shown through
a bar graph.

Observe it and answer the questions.

Scale
) | Yaxis1cm=1000z |
10000 — Index :[] Purchase
T [ ] Sale
9000 — -
o~ 8000 —
© 7000 —
@©
6000 —
s 5000
0
© 4000 —
]
5 3000 —
a
2000 —
l 1000 —
X
April May __June
Months
74. What type of bar graph is it?
(1) Divided bar graph (2) Joint bar graph
(3) Percentage bar graph (4) Simple bar graph

75.  Find the ratio of total purchase to total sale for the three months.
(1) 7:3 (2) 10:13 (3) 13:10 4) 7:5

SPACE FOR ROUGH WORK
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U 74 B 75 W2 yadr o5 QuRldl e 20174l A9 Hledidl viRlel vt Q-

AMIEAW gkl aledl 9 d udl «dlAdl usidl srdlel Qi

i |
BRI G R uHIGL Y wguz 1 adl = 1000 3R
10000 — O] wdlél ‘
T 9000 — LI
— 8000 —
E
S 7000 —
&
6000
B 5000——
&
‘T 4000 —
g 3000 —
3
i 2000 —
\L 1000 —
X
wiha ol ofe
A
74, BUUEL 2AGIEAV SUL USRAL 97
(1) [AMuwd 2deuaw (2) 04¢ AMIEAU
(3)  UdHld AHIEY (4) AEl dedw
75. A9l Hledidl sa uRlel Al 59 AL AEdAl 2RldR Al
(1) 7:3 (2) 10:13 (3) 13:10 4) 7:5
SPACE FOR ROUGH WORK
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